yp.| Bpems 1a Ka6. 10 Kab. Bpems 2a kab. 20 kab. Bpems 3a Ka6. 30 Kab.
g0 _g®
¥ | 1] 9°.-9* |Pas2oeopsbi 0 eaxHom | 3 Pa3zoeopb! 0 gaHoM | 4 9% _ 9% |Paszoeopnl 0 axHom | akT|3an|Paszoeopni 0 eaxHom |akt| san] 9% . 9*° |zaw.uuT.gHeB. 8 | 11 |saw.unt.gHeB. 8 [ 11
S| 290 10% KNaccHbIN Yac 3 KNaccHbIN Yac 4 9% . 10% KNaccHbIN Yac akT|3an KNaccHbIN Yac akt| 3an] 9% . 10% |3aw.uut.gHes. 2 3aLUY.YUT.AHEB. 2
5 3 UHgopM.kny6 5 UHGopM.Kny6 5 UHGOPM.KNy6 5 UHGOPM.KNy6 5 10*° - 11%° | Paszoeopsb! 0 saxHoOM Pa3z2080pb! 0 8aXXHOM
c|4 Hozura T.J1. Mypawkura J1.M. UHGOPM.KITY6 5 UHGOPM.KNy6 5
Q|5 Kynakoea H.B. bopyosa M.11. [Npubblnosa C.M. 8 CmupHosa H.B. 11
g 6 Tumawosa H.b. 2 Ckopoxodosa M.J1. 11
| 7 bapaHosa E.P. 8 lMemposa K.A. 8
O] 8 BopoHuHa H.B. 2 Mumeruyesa H.B. 11
= KypoykuHa H.B. 2




4a Kab. 40 Ka6. Bpems | Bpems 5a kab. 506 ka. 5B Ka6. 6a Kab. 60 ka6. | yp.

8%.8% | 8. 8% |pumopuka 11| 9lrpamm. u cmun.Ps1 | 13 13 12]|7P3 no mamenm. 12] 5
Paz2oeo0pbl 0 eaxHoM | 10 Pa320680pbl 0 6aXHOM 1 9% _ g% | 9% _ 9% |Paz2oeopnl 0 saxHo| 9 ucTopus 5 PYCCKMI 513bIK 13 Pa320e0pbl 0 gaxHol| 12 PYCCKUI 513bIK 14 1] =
KNacCHbI Yac 10 KNaccHbIN Yyac 1 9% _10% 110 - 10*9nat. 83./pycc. a3. 15 | 9 [matematvka 12 PYCCKI 53bIK 13 PYCCKUI 53bIK 14 Pa320e0pbl 0 gaxHo| 5 2] S
UHOPM.KTy6 5 UHOPM.KTy6 5 10%° - 11%°110% - 11¥pycc. a3./nar. a3. 9 [ 15]Pas20e0pbi 0 eaxHol 14 ncropwst 5 nuTepaTtypa 1 MaTtemaTyka 12 3 E
11%° - 122°111%° - 12%cTopus 5 nuTepatypa 14 aHrm.93./aHrn.ss. 13 ucm. uckyccme 4 nuTepaTtypa 1 4]l g
12%° - 13"°112% . 13%| nurepatypa 1 nuTepartypa 14 Pa3z2o0e0pbi 0 gaxH 13 maTemaTtuka 12 My3blka 9 5| ©
13%0_141°] 13%_ 14" maTematuka 12 O[HKHP 9 nuTtepatypa 14 nutepatypa 1 ncTopus 5 6 5
14%° - 15%°] 14%° - 15°) nutepatypa 1 nuTepatypa 14 ucTopust 10 KNacCHbIN Yac 5 71 T
]
C




